Deanship of Admission and Registration



عمادة القبول والتسجيل

Transcript

جــامــعــة حـائــل University of Ha'il

سجل آكاديمي

EID RAWAF H ALRAS HIDI

Print Date: 02/11/2025 Print Time: 9:53 AM

202200300

Current Academic Program

Degree: Bachelor of Science

College: Computer Science and Engineering

Major: Software Engineering

Level: Undergraduate

Software Engineering Department:

Concentration: N/A

First Semester 2022/2023 Status: Active Academic Standing: Good Standing

Course Code	Course Title	Grade	Credit Hours	Quality Point
ENGL 100	English Language	A+	2.00	8.00
ETEC 115	Computer and Information	A+	2.00	8.00
IC 111	Islamic Culture	A+	2.00	8.00
MATH 0013	Fundamentals of Mathematics I	A+	3.00	12.00
PHYS 0113	Physical Science	A+	3.00	12.00

	Attempted	Earned	Quality Points	GPA Hours	GPA
Current:	12.00	12.00	48.00	12.00	4.000
Cumulative:	12.00	12.00	48.00	12.00	4.000

Second Semester 2022/2023

Status:Active

Academic Standing: Good Standing

Course Code	Course Title	Grade	Credit Hours	Quality Point
ARB 100	Arabic Language Skills	C+	2.00	5.00
CSCE 0213	Critical Thinking and Study Skills	A	2.00	7.50
ENG 0013	Engineering Principles	A+	2.00	8.00
ENGL 1004	Pre-intermediate English	A+	4.00	16.00
MATH 0023	Fundamentals of Mathematics II	A+	3.00	12.00

	Attempted	Earned	Quality Points	GPA Hours	GP A
Current:	13.00	13.00	48.50	13.00	3.731
Cumulative:	25.00	25.00	96.50	25.00	3.860



Deanship of Admission and Registration



عمادة القبول والتسجيل

Transcript

جــامــعــة حـائــل University of Ha'il

سجل آكاديمي

EID RAWAF H ALRAS HIDI

Print Date: 02/11/2025 Print Time: 9:53 AM

202200300

Third Semester 2022/2023

Status: Active

Academic Standing: Good Standing

Course Code	Course Title	Grade	Credit Hours	Quality Point
CSCE 0313	Creativity and Innovation	A+	2.00	8.00
CSCE 0323	Interactive and Communication Skills	B+	2.00	7.00
ENG 0023	Engineering Drawings and Modellings	A	2.00	7.50
ENGL 1005	Intermediate English	A+	4.00	16.00
ENGL 109	English for Computer	A+	2.00	8.00

Attempted Quality Points GPA Hours GPAEarned 12.00 46.50 3.875 Current: 12.00 12.00 Cumulative: 37.00 37.00 143.00 37.00 3.865

First Semester 2023/2024

Status: Active

Academic Standing: Good Standing

Course Code	Course Title	Grade	Credit Hours	Quality Point
CENG 121	Digital Logic	A+	4.00	16.00
CSCE 101	Computer Programming I	A+	4.00	16.00
CSCE 121	Discrete Structures	B+	3.00	10.50
MATH 101	Calculus I	A+	4.00	16.00
PHYS 101	General Physics I	A+	4.00	16.00

Attempted Quality Points GPA Hours GPAEarned 74.50 19.00 3.921 Current: 19.00 19.00 56.00 217.50Cumulative: 56.00 56.00 3.884



Deanship of Admission and Registration



عمادة القبول والتسجيل

Transcript

University of Ha'il

سجل آكاديمي

EID RAWAF H ALRAS HIDI

Print Date: 02/11/2025 Print Time: 9:53 AM

202200300

Second Semester 2023/2024

Status:Active

Academic Standing: Good Standing

Course Code	Course Title	Grade	Credit Hours	Quality Point
CRCL 115	University Life Skills	A+	3.00	12.00
CSCE 102	Computer Programming II	A+	4.00	16.00
CSCE 233	Probability & Statistics	A+	3.00	12.00
MATH 102	Calculus II	A+	4.00	16.00
SENG 231	Intro. to Software Engineering	A+	3.00	12.00
SENG 233	Ethics in Software Engineers	A+	2.00	8.00

	Attempted	Earned	Quality Points	GPA Hours	GPA
Current:	19.00	19.00	76.00	19.00	4.000
Cumulative :	75.00	75.00	293.50	75.00	3.913

Summer Semester 2023/2024

Status: Active

Course Code	Course Title	Grade	Credit Hours	Quality Point
EDUC 115	Work Values and Ethics	A+	2.00	8.00
EDUC 125	Entrepreneurship	A+	2.00	8.00

	Attempted	Earned	Quality Points	GPA Hours	GP A
Current:	4.00	4.00	16.00	4.00	4.000
Cumulative:	79.00	79.00	309.50	79.00	3.918



Deanship of Admission and Registration



عمادة القبول والتسجيل

Transcript

جــامــعــة حـائــل University of Ha'il

سجل آكاديمي

EID RAWAF H ALRAS HIDI

Print Date: 02/11/2025 Print Time: 9:53 AM

202200300

First Semester 2024/2025

Status: Active

Academic Standing: Good Standing

Course Code	Course Title	Grade	Credit Hours	Quality Point
CENG 241	Computer Organization	A+	4.00	16.00
MATH 260	Introd. To Differential Equations & Linear Algebra	A+	3.00	12.00
SENG 232	Data Structures & Algorithms	B+	4.00	14.00
SENG 241	Software Requirements Engineering	A+	3.00	12.00
SENG 242	User Experience Design	A+	3.00	12.00

	Attempted	Earned	Quality Points	GPA Hours	GP A
Current:	17.00	17.00	66.00	17.00	3.882
Cumulative:	96.00	96.00	375.50	96.00	3.911

Second Semester 2024/2025

Status: Active

Academic Standing: Good Standing

Course Code	Course Title	Grade	Credit Hours	Quality Point
CSCE 353	Computer Networks	A+	4.00	16.00
SENG 243	Programming Languages & Paradigms	A+	3.00	12.00
SENG 351	Database Management Systems	A	4.00	15.00
SENG 353	Software Project Management	B+	2.00	7.00
SENG 354	Software Engineering Seminar	B+	1.00	3.50
SENG 361	Engineering Software as a Service	A+	3.00	12.00

	Attempted	Earned	Quality Points	GPA Hours	GPA
Current:	17.00	17.00	65.50	17.00	3.853
Cumulative :	113.00	113.00	441.00	113.00	3.903

End of Academic Record: Undergraduate

